FORMULE
	TROŠKOVI (C)

	TC=FC+VC

TC=TR-π
TC=ATC*Q

∆TC=TC(tekući)-TC(prošli)
	FC=TC-VC

FC=AFC*Q

FC=TR-VC
	VC=TC-FC

VC=AVC*Q

∆TC=TC(tekući)-TC(prošli)
	ATC=TC/Q


	AFC=FC/Q

AFC=P-AVC
	AVC=VC/Q

AVC=P-AFC

AVC=∆VC/∆Q

	
	
	
	
	MC=∆TC/∆Q

MC=∆VC/∆Q
	

	PRIHOD (R)

	TR=P*Q

TR=P*Qtpt

TR=TC+π

MR=∆TR/∆Q

	PRODAJNA CIJENA (P)

	P=TR/Q

P=AFC+AVC

	FINANCIJSKI REZULTAT (π)

	π=TR-TC

π=Aπ*Q

π=TR-(FC+AVC(Qa+Qb))

Aπ=π/Q

	TOČKA POKRIĆA TROŠKOVA (Qtpt)

	Qtpt=FC/(P-AVC)

	ISKORIŠTENOST KAPACITETA (Q%)

	Q%=(Qtpt/Qmax)*100

Q(?)=Qmax*(?)

	GRANICA ISPLATIVOSTI

	P>AVC = isplati se

P<AVC = ne isplati se


